Trig Unit Test Review Session #1

In the triangle shown above, if @ increases nt & congtant rate of 8 radians per minute, at what yate
is y decressing inunits per minute when x equals 3 units?

2. Aparticle moves along 8 horizontal line zo that at any time & its position is glven by
x(t) == 2net 4+ cos(int),

(2) Find the velocity at time £,

) Find the aoceleration ot time £,

(=) Whatare all values of £ for 0 5 t £ B, for which the particle is at rest. Justify your answer,

d) When is particle moving left? Moving right? Justify with because statement
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2. A particle moves along a horizontal line so that at any time & it pomnon is given by »
2(t) = 2nt + cos(Lnt), ]
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() What are all values of t for 0 £ £ £ 3, for \;ﬁgch the pmmlv; is atrest. J U\;’y YOour answer,
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